Answers for Practice Problems E in page 314

Answers to Practice

Problems E

1. PCl; is excess, H;O 15 limiting,
theoretical yield is 109 g HCI

2. H;O is excess, PCl, is limiring,
theoretical vield is 59.7 g HCl

3. PCly is excess, H,O is limining,
theorerical yield is 101 g HCI

Homework ———EI0

Additional Practice \Writc a bal-
anced chemical equation for each
of the following problems, and
then derermine the excess reactant,
the limiting reactant, and the theo-
rezical yield (in grams) of the first
product mentioned.

1. Zinc aitrate, Zny(C,H;04)5, an
ingredient in wothpaste, 15 made
by reacting zin¢ carbonate and
atric acid, C;H; 0. The other
preducts are HyO and CO,.
There are 6.00 mol ZnCO;4 and
10.0 mol CsHgO». Ans. 3ZnCO.
+ ?(\(} lgo,ﬁ — Zn_;‘(:,’,l".so,"_r -
3}1)0 t 3(,U"; (—bHsC'; is in
excess, ZnCOy is imiting, and the
thearetical yield is 1.15 x 10° g
Z.’l_(lChH;U-,)z.



